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1. The diagram below shows a 6-sided shape.
All the corners are right angles.
All the measurements are given in centimetres.
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The area of the shape is 95em”.
{a) Show that I+ 6x - 95 =0
Byw + % x (2x+) =99
T 4 TP+ ~95 =0
5 = &

2>+ bx - 1

(b} Solve the equation ¥ -

232+ 6x ~ 95 = 0

Give your solutions correct to 3 significant figures.
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x* ~8x+15 — ~

2x* =T7x-15 - /é»rﬁ‘%;ﬁ ( X 'f"?))

w8 4152 (2 =)(2-5)

(1-2)(=3) i

2. Simplify fully

oy Fe T -15= 2%

(Total 3 marks)
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3. {a) Show that the equation

can be rearranged to give 32+ Tx - 13 =10

5 (=« ~i»z') (ﬁ;ﬁ.&}) [ vpkz;,,}
(o0 + 2 26~ |

(= mf}

5 é"jé —~) = (4 -3) ﬁm%f{)
S -5 = 4o 4§ -3xF-Lx
B ~5= —32% —2% +8
Zog Tl b G - O B TO

() Solve 32 +7x-13=0
Give your solutions correct to 2 decimal places.
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4. (a) Expand and simplify {x + 3¥x— 4} e
Ao B S S P
e A )
@)
{b) Factorise x* A Tx A+ 10
(w2 (= +S)
17477
7x7=10 > .
(xt+z)(2+3) .
(2)
{¢) p=3t+dg-1
Find the value of g whenp=6and =5
3x 5+ 4(q-5)
£5+L§~.(?WS) .
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8. (a) Faciorise x*—T7x+ 10

(b} Solve

(o - 27) (o~ 53

¥X-Tx+10=0

{Total 3 marks)
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6. (&) Simplify da+3c-2a+¢

Vo + 4C
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&) 5w — g’
2
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Findthevalueof Swhensr=3and g = Z

5= 5 x

Lx L
20

(c) Factorise x*—3x

?ﬁ(’i“‘"g}

x+3Hx+4)

(d) Expand and simplify

{e) Factorise 3°+ 8p+ 15
Te1=8
1T ?=15

3¢5
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{Total 9 marks}
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7 . (a) Simplify (&Y

(b) Expand and simplify (3x+ 5)(4x -~ 1)
j .Z/‘}in T I = o - 3

{c) Solve x*-3x-10=0
757 = =3 C"X ~9)(x “”) = ©
()

T

@) Q7

(Total 6 marks)




8 . The diagram below shows a large rectangle of length (2x + 6) cm and width x cm.

A smaller rectangle of length x cm and width 3 cm is cut out and removed.

2x+ 46

Diagram NOT
accurately drawn

X

The area of the shape that is left is 100 cm?.

(2) Show that 262 + 3x - 100 =0

"”)6(‘2?6%-5) - 3y = (oo

Q"+ bx — 3 oo
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(b} Calculate the length of the smaller rectangle.
Give your answer correct to 3 significant figures.
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